4 3 <~ 2 1

CLOPAY MODEL 902, 903 REVISIONS

IDEAL MODEL C2AL, C3AL REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION

00 - 2/6/17 = = INITIAL RELEASE

DOOR IS MADE = ] ONE T-STRUT PER SECTION.
OF 6063-T5 ALUMINUM EXTRUSIONS. ' . T
WALL THICKNESS: ﬂ
TOP RAIL e 1075 \ E___nnn 0 N N
INTER. TOP & BOTTOM RAILS —.075 (I ( L . NOTE:
TOP HAS .1 x 1.875” FIN \ I il | il T 5 b N i \ < \\ A - STILES MARKED WITH H
INTER. TOP RAIL CAP ————— 040 T~ M~ = B = I 4iz0. HINGE ROGATING,
SINGLE & DOUBLE END STILES .075 <] S . . 3 20Na' | '8
CENTER STILES 062 REINFORCING FIN ON INTER. TOP
HD BTM RAIL 179 RAILS ANGLE CUT AT END STILES " . g g4 g g N ] T
I CENTER STILES ARE
SECTION 4 - 4 o ronr L1 : N A A ALWAYS 22" FROM
1 ﬁv—h? = CENTER TO CENTER
LOSkING N & JIx AW I J X J X FOR ANY GIVEN DOOR
= WIDTH. DIMENSION 'B'
! IS THE LEFTOVER
LS S AN DIMENSION ON BOTH
X | e AN \ - \ ENDS OF THE DOOR.
- 903 AND C3AL DOORS
P—— HAVE EQUAL SPACES
S L i o [ e ’ BETWEEN ALL STILES.
#14x5/8" SHEET METAL SCREWS
L/ A
Q
I Wa—® NUMBER 0OF
UM s |NUMBER OF
'\ | /47x3/4" SELF CENTER HINGE OF 16 GA. GALV. STEEL, ATTACHED R — BENTER |MSMEER OF OOHR REIGHT '+ | seetinus
TAPBING SCREwE TO INTER. BOTTOM RAIL WITH (2) #14 X 5/8" SHT e e TES P 10 80" 4
" MTL SCREWS AND TO INTER. TOP RAIL WITH (2) 1/4 le'=3" THRU 202 2 2 G o A 8
14 GA. END HINGES — 20 X 1/2" HEX HEAD MACHINE SCREWS & NUTS 12'-3" THRU 14°-0° 7
14'-3" THRU 16°-0" 8
16=3* THRU 18’~0" 9

MAX. SECTION HEIGHT: 24"

SNAP LATCH ENGAGES

ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE.
SLIDE BOLT LOCK EACH SIDE OF DOOR.
g ENGAGES INTO
4 VERTICAL TRACK. OUTSIDE
: ONE LOCK ON HANDLE LOCK BAR MANUFACTURING PRODUCT CODE:
. DESIGN LOADS: +30 & —30 P.S.F.
EACH SDEOF  pursioe END ENGAGES IN TEST LOADS ~ +45 & —45 P.SF. MPC: C-AL-1F 499
: KEYED , STILE TRACK ON
3 HANDLE. . EACH SIDE Unless Stated Otherwise - 8585 Duke Boulevard CLOPAY WINDLOAD RATING
4 OF DOOR. TOLERANCES are - ﬂlnpay Mason, OH 49040 USA
) INSIDE_SLIDE BOLT INSIDE HANDLE £ Tel. No. 513-770-4800
{; LOCK_OPTION OUTSIDE KEYED LOCK WITH OUTSIDE KEYED LOCK WITH .0 = £.031 Building Products Company Fax No. 513-770-4853
2 SNAP_LATCH LOCK_OPTION, LOCK BAR LOCKING. 0-38 = i-g(’)g DESCRIPTION: M/N 902, C2AL 20'2" WIDE DES. +30/-30 PSF
, : 0000 = +.001 |DRAWN BY: RUH DATE: 2/6/17 |SCALE: NONE  [pwa.
£ow S1010 e Degrees = +1/2° i 5 = SIZE
Eeg'l?c,g QN(EINE%R: MARK WgSgERFIEKD. PE. Third Angle M Srred Gl CHECKED BY: DATE: SHEET 1 OF 3
HOR! é.ﬁf'”# ?499-%,'“(3.\_-_'-/{'2;38-_3?. 1EXaS RE goills Projection DIMENSIONS ARE IN INCHES.| DWG. NO.: 105088 VER: TDI

Mool 8154 3 - 2 1

Ylriewan™




CLOPAY MODEL 902, 903

IDEAL MODEL C2AL, C3AL

-

HORIZONTAL (TOP) JAMB

/_(NO LOAD FROM DOOR)

/)
—\\

FASTENER
/_ TYPE

/— 2x6 VERTICAL JAMB \
/]

]
v

AL SE S

gRFIELD

iy

i \
AMARK WESTERFIELD, P.E.
FLORIDA P.£. 48495, NC_BE. #23832, TEXAS P.E. #91513

* “FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED
ZAT LEAST AS HIGH AS THE DOOR OPENING.

. .-..CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS.
8 Q-M;FNIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2", EXCLUDING STUCCO THICKNESS.

Third Angle
Projection

Ca

Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.

.0 = +.031

.00 = £.015
.000 = =£.005
.0000 = £.001
Degrees = +1/2°

Unless Stated Otherwise

TOLERANCES are

REVISIONS
REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
00 - - - - SEE REVISION HISTORY ON SHEET 1
SECTION 1 - 1
= JAMB TO SUPPORTING STRUCTURE ATTACHMENT 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
NOTES: BRACKET ATTACHED W/(4) #14x5/8" SHEET METAL
. 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
TRANSFERRED TO THE HORIZONTAL (TOP) JAMB. _ BRACKET WITH QTY (1) 1/4" X 1/2" BOLTS &
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +300 LB & =-300 LB. PER LINEAR 777N NUTS PER BRACKET.
FOOT OF JAMB. !
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A \ )./
FLUSH MOUNTING SURFACE.
4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE
LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.
MAX. O.C.
ONE 4" T—STRUT PER SECTION. SEE VIEW "D". EACH
NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, T—STRUT ATTACHED AT EACH STILE LOCATION WITH
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS (2) 1/4"x1" SELF TAPPING SCREWS [(4) AT EACH
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY DOUBLE END STILE].
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH
L MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT
REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. —a”
MEETING RAILS
FORM A TONGUE ]—
AND GROOVE J .
JOINT 4-1/4
MR
JJQ VIEW "D”
M O 4" TALL TAPER STRUT.
L DOUBLE END ROLLER 0.062" MIN. GALV. STEEL,
HINGES OF 14 GA MIN 80 KSI. MIN
ALV STEEL, FASTENED ’ '
FULL—VISION SECTIONS &TH (4)EE#14 X 5/8"
T0 BE 1/8" DSB OR\JV SHEET MTL SCREWS & (2)
BETTER GLASS HELD IN .(N 8 1™ SELF TAERING
PLACE WITH SNAP-IN K I s{:RE)iNs
GLAZING BEAD AND HOT 1IN :
MELT. :
1
1
1
1
1
i
il BOTTOM ROLLER BRACKET OF 12 GA. GALV.
: STEEL, FASTENED WITH (4) #14 X 5/8" SHT
! / MTL SCREWS.
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES |
AU | 2" 10 BALL LONG STEM STEEL ROLLER WITH
ON—-CENTER i STEEL OR NYLON TIRE
DISTANCE  |STEEL =Y
BETWEEN _ [WASHERS j
BUILDING TYPE FASTENER TYPE FASTENERS " |REQUIRED? e) HD BOTTOM RAIL
HOLLOW BLOCK WALL 1/4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 5-1/2" 1" 0.D. ! /_
GROUT FILLED BLOCK WALL [1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 9" 1™ .0.0; !
2000 PSI MIN. CONCRETE | 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 8" 1" 0.D. BOTTOM SECTION REINFORCED WITH
2000 PSI MIN. CONCRETE _ [1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 7-1/2" 1" 0.. @ N\ A TEMPERED ALUMINUM EXTRUSION
2000 PSI MIN. CONCRETE _ |3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 16-3/4" | INCLUDED WITH INTEGRAL RETAINER FOR
4000 PSI MIN. CONCRETE _ [3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED FLEXIBLE VINYL ASTRAGAL
:(WOOD_FRAME (SYP 0.55 SG)[1/2" x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTO STRUCTURE 18" 1" 0.D.
H4GA STEEL (0.060" MIN.) [1/4"-14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 7-1/2" 1" 0.D. BEEIEK LOADS: +35 & —50 BER MANUFACTURING PRODUCT CODE:
13‘ GA STEEL (0.105" MIN.) [1/4"-14 x 1" TW_BUILDEX TEKS SELF—DRILLING FASTENER 13-1/4" |1 OD. TEST LOADS 445 & —45 P.SF. MPC: C-AL-1F499
1 .§" STEEL 1/4"=14 x 1" ITW_BUILDEX TEKS SELF-DRILLING FASTENER 15-3/4" 1~ 0.D. :

8585 Duke Boulevard
Mason, OH 45040 USA

—{ K]
B ﬂpay Tel. No. 513-770-4800

Building Products Company Fax No. 513-770-4853

CLOPAY WINDLDOAD RATING

WO

DESCRIPTION: M/N 902, C2AL 20'2" WIDE DES. +30/-30 PSF

DRAWN BY: RJH DATE: 2/6/17 |SCALE: NONE DWG.
CHECKED BY: - DATE: - SHEET 2 OF 3 |[SIZE
DWG. NO.: 105088 VER: TOI

4

A




4 » k| S o 2 1

CLOPAY MODEL 902, 903 REVISIONS
IDEAL MODEL C2AL, C3AL REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION

00 =53 - = - SEE REVISION HISTORY ON SHEET 1

ANGLE MOUNT JAMB CONFIGURATION

2x6 SYP JAMB (IF PRESENT;
SEE JAMB NOTES ON SHEET 2).

D 2" TRACK CONFIGURATION. HORIZONTAL TRACK
SUPPORT BY DOOR
INSTALLER (TO SUIT).
NOTE DOUBLE TRACK LOW DOOR COUNTERBALANCE SYSTEM \+ agl%i e JAMB_CONFIGURATION
HEADROOM, HI-LIFT TRACK, : : - - L. e FOR 2" TRACK. OPTIONAL STOP MOULDING ~CENTER STILES FASTENED TO
FOLLOW-THE - = Y INSTA T Im). RAILS WITH F NGTH
Tgké?(. ALT,E VEE?,(C)ZL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 770" 76" BRACKET MOUNT JAMB CONFIGURATION | BY 'NSTALLER [ BRiG 5/1Le" STEELUEIQ_'C_)D;EA?\ID
JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 6" E
Shat Sk, AVAIABLE ' AND 10 TRA(C,E w,/TH @) 1 /4/ RIVETS. ;._8.. gg.. 1" DOOR OVERLAP (EACH SIDE) ~| || FEND STILES FASTENED To FLANGE NUTS.
TRACK CONFIGURATION = 8'—6"] 94" 2x6 SYP WOOD JAMB. 5/16" STEEL RODS AND ONE 5/16" x 1-5/8" LAG
ABOVE THE DOOR OPENING ) . 9'—0"[100" REQUIRED FOR BRACKET FLANGE NUTS. SCREW SPACED AT THE SAME
I DOES NOT AFFECT THE L AS RQD: SPACING NTE 14" O.C. 9—6"]106" MOUNT. DISTANCES AS THE TRACK BOLTS
WIND LOAD RATING. z T0—0"112" (LE. 3-1/2", 10", AND EVERY
Q = " 10'-6"[118" 12"). ALSO TWO LAG SCREWS
8 63 fR GALVT' STEE’E—STRACK-BB,, 11-0"[124" 2-1/2" X 12 GA GALV. STEEL LOCATED ABOVE VERTICAL —
I AR TRICKNESS: 0.085 117=6"[130" TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION.
s 12'-0"]136" WOOD JAMBS WITH 5/6" X 7/16" 1.0. ROUND
&5 ww 12'-6"]142" 1-5/8" LAG SCREWS NOT TO PUSH NUT CENTER HINGE OF 16 GA. GALV. STEEL, ATTAC;'HED
L;J L VERTICAL TRACK TO BE BRACKET ]3:—0:: 148:: EXCEED 14" ON-CENTER. FASTENER. TO INTER. BOTTOM RAIL WITH (2) #14 X 5/8" SHT
5 MOUNT OR CONTINUOUS ANGLE 13'—6" 154" MTL SCREWS "AND TO INTER. TOP RAIL WITH (2) 1/4
z (1-3/4"x2-1/4"x12 GA MIN.) 14'-0"1160" — 20 X 1/2" HEX HEAD MACHINE SCREWS & NUTS
C Z MOUNT. ALL BRACKETS/TRACK 14 -6 1166 X 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
a CLIPS ARE 12 GA. GALV. STEEL. 15°-0"1172" 2" GALV. STEEL TRACK FASTENED TO SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
< BRACKETS/CLIPS ARE ATTACHED 15'-6"[178 12 GA GALV STEEL TRACK BRACKETS
TO TRACK WITH EITHER TWO 1/4" 16'-0"]184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
o 16'-6"[190" 1) 1/4" X " T UT PER
Nt OF ONE 1747 BOLT AND 17'=0"[196" bk 7 b PRACK BRACKET. SECTION C-C " "
17'-6"[202" LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
18°=0"1208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO

USED WITH "DOUBLE END STILE" AS NOTED ON

’ SHEET 2.
DOUBLE TRACK ‘

LOW HEADROOM OPTION

3" TRACK CONFIGURATION. CENTER HANG REQUIRED FOR
DOORS OVER 8' P?IGH JAMB_CONFIGURATION (AVAIL. FOR BOTH 2" AND 3" TRACK)
' FOR DOORS WITH 3" TRACK.
A DOUBLE HORIZONTAL
NOTE DOUBLE TRACK LOW ,;,;H TRACK.
HEADROOM, HI-LIFT TRACK, % | R e e —| —————— g
FOLLOW-THE— ROOF % -
§ 1" DOOR OVERLAP (EACH SIDE) —] OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
lgﬁgﬁ' ,ﬁ{“ED A\\/,iﬁ_ugﬁt LFT 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK END STILES FASTENED TO RAILS WITH FULL LENGTH 5/16" STEEL
il THICKNESS: 0.101". ANGLE THICKNESS: 0.080". ggsgg%TAé_Yng%}; 2x6 SYP JAMB (IF PRESENT: RODS AND FLANGE NUTS.
B TRACK CONFIGURATION N MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". INSTALLER (T0 SUIT), SEE JAMB NOTES ON SHEET 2). ; CENTER STILES FASTENED TO RAILS WITH FULL LENGTH
ABOVE THE DOOR OPENING VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING ' LHLIILLL, 5/16" STEEL RODS AND FLANGE NUTS.
DOES NOT AFFECT THE = JUNCTION. TWO 1/4" BOLTS [—— FROM LAST MOUNTING |
WIND LOAD RATING. = & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED 7 [ & S
w ] . .
= ANGLE. SEE LAG BOLT MOUNTING AT TRACK ,_ — % l CENTER HINGE OF 16 GA. GALV. STEEL, ATTACHED
x ADDITIONAL MOUNTING SLOTS CONFIGURATION BELOW. 7/16" 1.0. ROUND \TO INTER. BOTTOM RAIL WITH (3) #14 X 5/8" SHT
<] SPACED AT 127 CENTERS. PUSH NUT MTL SCREWS AND TO INTER. TOP RAIL WITH (2)
: FASTENER. 1/4 — 20 X 1/2" HEX HEAD MACHINE SCREWS
e —12" ON CENTER 0.101" THICK 3" GALV. STEEL TRACK FASTENED Gibls* BOIS:
(ID 46" TO TAPERED ANGLE. TRACK ATTACHED TO 14 GA. GALV. STEEL ROLLER '!-IINGES FASTENED TO END
2 = — TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
T NUT AT EACH MOUNTING SLOT. AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
o " "
A z - ONE. 4" TRACK BOLT AND NUT AT EACH 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
o E MOUNTING SLOT LOCATION. s SECTION C-C
" DOOR |VERTICAL PREPARATION OF JAMBS BY OTHERS.
4 HEIGHT [TRACK LENGTH MANUFACTURING PRODUCT CODE:
22 Lt DESIGN LOADS: +30 & —30 P.S.F.
RNy TEST LOADS ~ +45 & —-45 P.SF. MPC: C-AL-1F499
A 19(’)_1.0(;' 5138;" Unless Stated Otherwise | (D nl 3585 D(L)Jhe428‘l41(l)evgsrg CLOPAY WINDLOAD RATING
» = ason,
g 127-07 132" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME TOLERANCES ore A npay Tel. No. 513-770-4800 \/\/ 5
3-1/2" 14-07 156" DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 10", 22", 34", .0 = +.031 |Building Producls Company Fox No. 513-770-4853
16-0'1 180" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & .00 = *.015 DESCRIPTION: M/N 902, C2AL 20'2" WIDE DES. +30/-30 PSF
17-01 204 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE .000 = +.005
ML 2 AU 18'-07 228 VERTICAL/HORIZONTAL TRACK JUNCTION. 0000 = +.001 |DRAWN BY: RJH DATE: 2/6/17 |SCALE: NONE  |pwG.
LAY e Y =~ Degrees = +1/2° i e b SIZE
DESIGN ENGINEER: “MARK-WESTERFIELD, P.E. Third Angle sl IS BT Rt U DAES SFEE] 8 OF 9
FLORIDA P.E. #48495, NC.P:E> #23832, TEXAS P.E. #91513 Projection D?MeESNsSIOI\?SeARE I:J"II;\ISSHES. DWG. NO.: 105088 VER: DI

4 3 A 2 1



